EV = Root Txt Cheat Sheet : Standard

L EV BL62 — SI3 (same side * cross) [Sho LU def/LR def sho
/) 1] LU (+) [ 2] SP (+) [ 3] LR(+) (sameside - opp.side) | _
U EV BL62 — TW5 (same side) Sho LU def/LR excess w. HT |PC] sho
/) 1] LU (+) | 2 ] SP (+) |31 LR(-)opp. 4 HT [PC] (-) opp.
EV TW5 — LR3 (same side * cross) Sho SP def/LR def sho X Mostly the same side
#/0) (1] SP (+) [2 ] HT [PC] (+) 3| LR(+) (sameside - opp.side) [ 4] KD (+)
S EV TW5 — KD6 (same side * cross) Sho SP def/KD def sho ¢ Mostly the same side
(/) 1] SP (+) [2] HT [PC] (+) 3 | KD (+) (same side - opp.side)
) EV TW5 — GB41 (same side) Sho SP def/KD excess w. LR sho
#/06) (1] SP (+) [ 2 | HT (+) [3] LR(-Jopp. |4] KD(-)Jopp. [ _ _
EV TW5 — ST43 (same side) Sho SP def/KD excess w. LR sho
@/ 1] SP (+) [2 ] PC (+) 3] IR(-Jopp. [4] KD(-)opp. |
EV GB41 — LI4 (same side * cross) [Sho] HT def/KD def sho
H /) 1] HT (+) [ 2] LR (+) | 3] KD (+) (sameside - opp.side) [ 4] LU (+) |
T EV GB41 — SI3 (same side) Sho HT def/LU excess w. KD sho
@/ 111 HT (+) [ 2] LR (+) [3] LU()opp. [4] KD(-)opp.
EV ST43 — LI4 (same side * cross) Sho PC def/KD def sho
P #6111 PC (+) [ 2] LR (+) [ 3] KD (+) (sameside - opp.side) [ 4] LU (+) |
C EV ST43 — SI3 (same side) Sho PC def/LU excess w. KD sho
#/6) 111 PC (+) [ 2] LR (+) [3] LU(-)opp. [4] KD(-)opp.
L EV SI3 — BL62 (same side " cross) [Sho] LR def/LU def sho
@/ (1] LR (+) [ 2 | KD (+) [ 3] LU(+) (sameside - opp.side) I%Jﬂ_ SP (+)
R EV SI3 — KD6 (same side) Sho LR def/SP excess w. LU sho
#/6) 11] LR (+) [2 ] KD (+) 3] SP(-Jopp. [4] 1U(-)opp. |
EV L4 — GB41 (same side - cross) | sho KD def/HT def sho
K #/6) 1] KD (+) [ 2] LU (+) [ 3] HT(+) (sameside * opp.side) _ _
EV LI4 — ST43 (same side * cross) [shol KD def/PC def sho
D #/06) (1] KD (+) [ 2 | LU (+) [ 3] PC(+) (same side - opp. side) | _
EV LI4 — BL62 (same side) [Sho] KD def/HT [PC] excess w. SP sho
/) 1] KD (+) [ 2] LU (+) | 3] HT [PC] (-) opp. | 4] SP(-)opp. |




